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Hafeez is 50 years old, extremely wealthy and works
because he enjoys it. Which of the following do you think
would motivate Hafeez the most?

Salect the correct option
More vacation time
@]

‘Greater discretion over his job
O

‘A high amount of remuneration
@

‘A greater sense of inner peace
o
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Which of the following type of structure would best suit the
organization that strives for cost minimization?

Salect the cotrect oplion
Matrix
O

‘Bureaucracy
(@]

‘Mechanistic
o)

‘Organic
O
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Question # 3 of 10 { Stan thme 103742 PN, 15 Febluary 2027 } Total Marks: 1

HRM refers to which of the following activities?

‘Conducting job analysis
O

'Appraising performance
O

‘Orienting new employees
@

All of the given
O
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Question # 4 of 10 { Stan thime: 113921 PN, 15 Febluary 2027 } Total Marks: 1

Which of the following does not represent the option for
work redesign?

Select the cotrect oplion

‘Job Rotation
O

'Job Sharing
(@]

‘Job Enlargement
@

Job Enrichment
o)
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Which of the following statement is true in case of high
centralization?

Solect the carrect oplion

‘The corporate headquarter is located centrally to branch
O offices

‘Action can be taken more quickly to solve problems
O

‘New employees have a great deal of legitimate authority
@

Lower level managers merely carry out directions
O
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Question # 7 of 10 { Stan thme 108419 PN, 15 February 2027 } Total Marks: 1

All of the following are benefits of internal change agent

EXCEPT: , ,
Download More Quizzes Files From
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Lower out-of-pocket costs
O

'More diverse experience
O

‘More control and authority
@

Available more quickly
O
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All of the following are disadvantages of outsider change
agent EXCEPT:

Salect the correct option
Inadequate understanding of organizational culture
O

[Insufficient information regarding operating procedures
O

Offers more objective perspective
@

Insufficient employee support
O
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Question # 10 of 10 { Siart time: 14935 PM, 15 Febouary 2021 ) Total Marks: 1
Which of the following is NOT a contributor to
“Organizational Stress”?

Select the cotrect option

‘Salary
O

‘Supervisor
O

‘Security
@)

‘Sensitivity
O
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Question # 9 of 10 { Stan thme: 1RAT 45 PN, 15 February 2027 ) Total Marks: 1

Which of the following processes provides the base to
establish a fair and equitable salary and wage system in
any organization?

Download More Quizzes Files From
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‘Job Design
O

'Job Evaluation
@)

‘Job Analysis
@

None of given
O
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Which of the following statement is true in case of high
centralization?

' The corporate headquarter is located centrally to branch
O offices

Action can be taken more quickly to solve problems
0

New employees have a great deal of legitimate authority
(o}

Lower level managers merely carry out directions
o}

O O d
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Mr. Asad an assembly line worker, resists adopting latest
technology because of the uncertainty and ambiguity about

the technology, is an example of which source of resistance
to change?

Fear of unknown
O

Habit

Security

Threat to expertise

— iy 3
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Which of the following term is part of the definition of a strong culture?
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Baburt thy owrreat aplinn

Low Dehavioral controls
0

Narrowly shared values

Deeply held values

~ Weakly held values
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Which of the following is most likely to result from a strong
organizational culture?

Bt e et ot .
Low employee turnover
0

Low employee satisfaction

High employee turnover

High absenteeism

(o -
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All the following are sources of innovation EXCEPT:

Structural variables
(o]

-_Long tenure
O

Business processes
o]

Inter-unit Communication
(o]

O O Jd
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Total quality management and socio-technical theory are main instruments
for inorganizations.

Salest (b ewivet aplian

Incremental change

O

Evolutionary change
®

Revolutionary change
®

~ Radical change
0
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The values which are accepted throughout the organization
are called

_l-nm.-e-mlw
Threshold values
(o)

Core values
o

Instrumental values
o)

‘Terminal values
o
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After failure in the market. the top management of SOFTRINIX decided to
change the size, structure and functioning of the organization to achieve its
objectives. It is an example of:

Satuni thy owvai aplion

Radical change
0

‘Evolutionary change
O

Strategic change
O

~ Planned change
®
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Which of the following is NOT a component of attitude?

Cognitive
(0]

Affective

Perceptive

Behavioral

= 3

1l
C
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Proctor & Gamble departmentalizes by Tide. Pampers. Charmin. and
Pringles. This is an example of which of the following type of
departmentalization?

Sutunt thy owreat aplisn

‘Function
®

@Gﬂngraphy
®

iPmducr
o)

 nterest
o
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A reduction in the rank, status, or position of an employee is
known as:

Setect o comect
Layoff
(o]

Attrition

Demotion

Firing

(o -
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The sunshine company is reducing its size by selling off
and closing down its units and product lines to increase
profitability. What is company doing?

_lunm.-e-ml-um
Downsizing
o

Rightsizing
O

Reengineering
o]

Acquisition
o

O O d
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The process through which we attempt to determine the
causes of others’ behavior is referred as:

Gt the sserast sptin
Attribution
(o]

- Perception
O

Attitude
o)

::Affect
(o]

O O Jd
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By keeping the span of control to 5 or 6 employees, which
of the following is an advantage?

e S ot sption — i
Vertical communication is more complex
o]

It is expensive and complicated

|Decision making is slowed down

Upper management Is more avallable and in-touch

(o -
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In Ravi trading company, there is low formalization, a
comprehensive information network, and high participation
in decision making. What is its organizational structure?

Mechanistic

|Organic

Bureaucratic

-
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United Company is undergoing a change process. The
management decides to hire external change agent to
coordinate this process. What can be the potential benefit

which management can gain from this step?

CaEt thi CEFPELY EDLEIL

Take longer start-up times
o}

Act freely, not tied to office politics
0

Non-familiarity with organizational culture
o}

Spend time in understanding the cues and clues
(o}

O O d
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All the fultnwin_g are sources of innovation EXCEPT:

Gelert the conert aufian

Structural variables
O

Long tenure

Business processes

Inter-unit Communication

(o -
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The organizational development technique to bring change,
which is also known as T-group, is:

B o oot e .
Survey feedback
(#]

Sensitivity training

Team building

Apprecilative Inquiry

(o -
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Change activities that are and goal oriented, are
termed as planned change.

Intentional
O

Discretionary

Random

Reflexive

(o -
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Which of the following is the strength of the matrix structure?

Download More Quizzes Files From
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Faluat the imirent apllan

Simply demonstrates tasks
®

~ Adherence to chain of command
0

‘Facilitates coordination
(0]

Establish unity of command
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[f anorganization's culture Is .the management needs to be less
concerned about the development of formal rules and regulations to guide
employee behavior.

Fatuui thr owvai aplion

Stronger
o

Cooperative
0

;5uppum'rs
O

 Weaker
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Which of the following is one of the most popular ways to group activities?

Download More Quizzes Files From
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Fuise] fhu peitiaf apliog

Product

Function

‘Geography

Process
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Which of the following statement is true in case of high centralization?

Belast (b rosieet apliae

The corporate headquarter is located centrally to branch offices
O

‘Action can be taken more quickly to solve problems
®

;ﬂeu' cmplogees have a great deal of legitimate authority
O

Lower level managers merely carrg out directions
0O
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Which of the following is NOT related with Job
Enlargement?

ld-nhe-nnw
Horizontal expansion
o

Vertical expansion
O

Both vertical and horizontal
o)

:Ail of the mentioned
(o)

O O d
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Which of the following statements describe the “Design”
stage in appreciation inquiry process?

To find out the sirengt'hs of organization
(o]

To envision the organization and describe what is different

|To find a common vision of organization and agreeing on
O its unique qualities

To write the action plan and development of
o Implementation strategies

Download More Quizzes Files From
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[nwhich of the following work scheduling option two individuals work part-
time to complete the work of one person in a single full-time job?

Falait the et et aplion

Flextime
o

Telecommuting

ol Sharing
0

—' None of the given
®
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Which one of the following is consistent with a simple
structure?

l-nhe-nnw
High centralization
(o]

-High employee discretion
O

Standardization
o)

‘Bureaucracy
o

O O Jd
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The jobs in an organization are grouped together on the
basis of similarities in tasks performed; this refers to:

et the sarrast sption
Formalization
(o)

-Centralization
o

Departmentalization
o}

'Decentralization
o)

O O Jd
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Soccer Ball Company is undergoing a change process. The
management decides to hire internal change agent to
coordinate this process. What can be the potential benefit
which management can gain from this step?

.l-llﬂﬁﬂﬂll!lm
More diverse working experience
O

Better knowledge of the organization
0

Act freely, not tied to office politics
o}

To some extent avoid responsibility
o}

O O Jd
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Question # 8 of 10 ( Start time- 10:22:23 PM. 15 February 2021 ) Total Marks: 1

In Ravi trading company, these is low formilizstion, 8 comprehensive information network, and high participation in decision making. What is its organizationa! structure?

Select the comect oplion
| Simple

| Mechanistic

Ormganic

| Bureaucratic

10:22 PM
15-Feb-21
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Question # 5 of 10 ( Start time: 10:18:07 PM, 15 February 2021 ) Total Marks: 1

Why strong cullure = considersd a5 substitule of Formalizstian?

Select the comect oplion
| Strong cullure allows core values 1o be widely shared

| Strong culture increasss behavioral consistency

O y

Strong culture needs less developmant of formal rules and regulations

| All of the gven

10:18 PM

15-Feb-21
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Question # 10 of 10 ( Start time: 10:25:45 PM_ 15 February 2021 ) Total Marks: 1
The process through which we attempt 1o detemine the causes of others behavior is referred &5

Select the comect oplion
| Attributian

| Perception

| Attilude

10:35 PM

15-Feb-21

Scanned with CamScanner



b i - - -
e

l B () Whatshgp X | L6 Quiz List x O Quz X & Inwhichofthe X | & Omgan@ingwe X | & WhichsNOT. X | & Incityhotel b X | & InRaditradineg X

< & 8 quiz.vuedu.pk/QuizQuestion.aspxiver=5eb5cte9-a90a-4ca2-bede-1b6852719160 T @ » f'e Paused i-

MC 190403442 IQRA MUBARAK |Tm'|9 Left

MGTE0Z-:QUIZH3 Quiz Starl Time: 10012 PM. 15 February 2021

Question # 9 of 10 { Start time: 10:23:59 PM. 15 February 2021 ) Total Marks: 1

Mr. Shoaib has been moved from the position of "Manager Administration” to "Mansger Finance”. Both positions sr2 in similar salary range snd same level in organizations! hierarchy
It is an exsmple of which of the following type of career paths:

Select the comect oplion
Lateral skill path
O Download More Quizzes Files From
Emtcam e VUAnNswer.com

0) y

Netwark caresr path

| Traditional career path
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Question # 4 of 10 ( Start time: 10-16:34 PM, 15 February 2021 ) Total Marks: 1
Crganizing workshops and meetings to explain the changing nature of work exemplify which tactic to overcome resistance?

Select the comect oplion
| Manipulation and cooptation

| Education and communicalion

O y

Participation

| Negotistion

10:16 PM
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Question # 7 of 10 ( Start time- 10:21-13 PM. 15 February 2021 ) Total Marks: 1

In city holel. housekeeping staff is not only responsible for clesning rooms. vacuuming and msking beds, but also replscing burned out bulbs and restocking of mini bars
Which of the f sdesq ibed ? : :
AR TR R Kt often iR e Download More Quizzes Files From

VUANnswer.com

Select the comect oplion
| Job Sharing

| Jab Ratation

O y

Job Ennchment

| Job Enlargement

Scanned with CamScanner



- -

l & Whatsdpp X | NG Quiz List ®x O Quiz ¥ & Inwhichof the career stage; v X | & Which of the statement define. X

< & 8 quiz.vuedu.pk/QuizQuestion.aspxiver=a7 7b3f00-76cb-4835-98f4-707343c1dese T @ » |"6 Paused i-

MG 190403442 1QRA MUBARAK Time Left 88 ~
| sec(s)

MGTE0Z2-:QUIZN3 Quiz Starl Time: 10:12 PM, 15 February 2021

Question # 3 of 10 ( Start time- 10:15:27 PM. 15 February 2021 ) Total Marks: 1

Mr. Ali "Manager [T, threstened the resislors that f they don't own the change. they will be transfemed and their promotians will be stopped. Which tactic for overcoming resistance to change s used here?

Select the comect oplion
| Cosrcion

| Manipulatian

Cooparation

Educatian

1015 PM
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MC 190403442 1QRA MUBARAK Time Leh St
sec(s)

MGTE0Z:QUIZH3 Quiz Starl Time: 10012 PM. 15 February 2021

Question # 1 of 10 ( Start time- 10:12° 14 PM. 15 February 2021 ) Total Marks: 1

In which af the following career stage. an individual gets his first job, gets accepted by his peers, leams in this job. and also gains the first tangible evidence of success or faillure?

Select the comect oplion
| Growth stage

| Exploration stage

Establishment stage

.'
| Maintenance stage
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<« o 8 gquiz.vuedu.pk/QuizQuestion.aspxiver=56393a831-9a69-4755-b%e-b83d5fMe8fbs T @ » fe Paused r :

MG 190403442 IQRA MUBARAK ‘Tﬂ'ﬂﬂl.ﬂft 88 3

, sec(s)
MGTE0Z2:QUIZN3 Quiz Starl Time: 10:12 PM, 15 February 2021
Question # 2 of 10 ( Start time: 10-13.44 PM. 15 February 2021 ) Total Marks: 1

Which of the following stelement defines individuat-organizational fit?

Select the comect oplion
| Attitudes and behavioes of employes or applicant are compatible (o arganization

| Emplayee has high work proficiency with strong educational background

@) y

| A stage when new employes adjusts to job workgroup and organzation

| None of the given
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MG 1920403442 1QRA MUBARAK Time Left 83 ¢
| sec(s)

MGTE0Z2:QUIZN3 Quiz Starl Time: 10:12 PM, 15 February 2021

Question # 6 of 10 ( Start time- 10:19:47 PM. 15 February 2021 ) Total Marks: 1

Which of the following is NOT & step in Kurt Levan's thres-step madel for chiange?

Select the comect oplion
| Unfreazing

| Movement

O y

Process evaluaban

Freszing

10:19 PM
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Question # 5 of 10 [ Stan time: 122356 PM, 16 February 2021 ) Tots! Marks: |

Which of the following type of structure would best suit the
organization that strives for cost minimization?

Select the correct option

Matrix

‘Bureaucracy

Mechanistic

‘Organic

Download More Quizzes Files From

VUANnswer.com

(i 3

Scanned with CamScanner



36 % 1220900 - 4C: 539 @ )

X @ Quiz D <:

quiz.vu.edu.pk

BC190405937: SANA MUHAMMAD AHMAD [’Tkh' Len BGE

MGTS02QUIZAI Quils Sterm Time: 12218 PM, 16 February 2021

Question # 2 of 10 ( Swan tme: 12:20:03 PM, 16 February 2021 ) Tons! Marks: |

Comparing and aligning organization’s requirements to the
skills and abilities of its employees are performed through:

S-[-::_uummumhn
‘Human Resource Management
O

:Management Information System
O

‘Quality Management
o)

Performance Management
(o)

1

(i 3

Scanned with CamScanner




3135 1226 @0 - 46: 529 @ )

X @ Quiz D <:

quiz.vu.edu.pk
BCTS0E0ET3T SANA MUHAMMAD AFMAD |1ll'.wLﬂ
MOTSCT QUGN Outr Start Tire 1218 PR 18 Febraaly 2011
Quanttion # 7 of 10 { Stert tire: 1Z2637 Ph, 16 Febnaary I620 ) Tkl Marks: 1

Which one of the following form is used to transmit culture
to employees through repetitive sequence of activities,
expressing and reinforcing the key organizational values?

Sadect the cormect opbon

Stories

Rituals
o

Language
o)

= Material Symbols
O

(- -
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Question 83 of 10 [ St time 12 21:46 PM, 16 Febhary 2021 ) Toas| Marks: |
The organizational design of Aleem enterprise is
characterized by a low degree of departmentalization,
centralized authority, and limited formalization. Identify the
organizational design of Aleem enterprise:

Download More Quizzes Files From

VUANnswer.com

Select the cormect option

‘Bureaucratic structure
O

‘Matrix structure
O

‘Simple structure
0

‘Organic structure
0

(i 3
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Quanttion # 9 of 10 { Stert thre: VZI507 P, 16 Febnaary I620 ) Tkl Marks: 1

A summary of a person'’s personal development needs and
an action plan to achieve them is called;

Download More Quizzes Files From

VUARNswer.com

Sadect the cormect opion

Personal development plans J
o

Performance appraisal system

O

Specialized development plan
o)

Occupation development plan
O

(= -
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Which of the following is an attribute of employee’s
performance?

Sadect fhe correct opbon

Motivation
(o]

All of the given
° <

Opportunity
o)

" Ability
8]
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Quastion # B uf 10 Swar twmer 1324758 PML 18 Fabmary 3931 ) Tetal blarks 1

The best definition for centralization is a situation in which
decision making is:

. Pushed down to lower level employees
o

Concentrated at a s'ingle point in the organizaty
O

Completed in each department and then sent to the higher-
O ups

Diffused among a large segment of employees
0

Download More Quizzes Files From
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Total quality management and socio-technical theory are main instruments
for inorganizations.

Selest b euivral aplion

Incremental change
O

Evolutionary change
0

| :
Revolutionary change
0 J

I
Radical change
®
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Total quality management and socio-technical theory are main instruments
for inorganizations.

Balest (b euivral aplion

[Incremental change
o)
}E volutionary change
o)
iﬂsrulutianary change
5 XXX (X (X
|
Radical change
O
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The basis by which jobs are grouped together is termed

Setct e camct pten
Bureaucracy
o

Il Speci'alization
O

 Centralization
O

‘Departmentalization J
o)

] O O
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All the following are sources of innovation EXCEPT:

et the corrast sptien
Structural variables
(o]

-Long tenure
O

Business processes V
o]

Inter-unit Communication
(o]

O O Jd
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Queation & & of 10 ( Star wmer 129937 PAL 16 Fabmmry 3031 ) Total bk 1

HRM refers to which of the following activities?
Download More Quizzes Files From
VUAnNnswer.com

~ Conducting job analysis
@

Appraising performance
O

‘Orienting new employees
(8]

. Allofthe given
O \/

] O O
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Question # §uf 10 Star twmer 129073 PML 16 Fabmmry 3031 ) Tetal barks: |

Mr. Ali “Manager IT*, threatened the resistors that if they
don't own the change, they will be transferred and their
promotions will be stopped. Which tactic for overcoming

resistance to change is used here?

Saiect iha correct aptisn

~ Coercion
o

Manipulation
O

Cooperation
o

Education
(9]

Download More Quizzes Files From

VUANnswer.com

Scanne d with CamScanner




1:31PM 8 = .l 50D

X @ v O <
" L]
quiz.vu.edu.pk
BC1HHEDTID FURAH SABIN Tmul me
MOTRERQUT#3 Gz Start Thrmw 012:;‘“ 16 Fabrisary 2031

The jobs in an orgaﬁization are grouped together on the
basis of similarities in tasks performed; this refers to:

.l-ﬂnmmmm
Formalization
(o]

'Centratization
O

Departmentalization
o}

Decentralization
(o)

O O Jd
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to change?

e e bbb s
O

'Habit
o

~ Security
o

Fear of unknown

O

‘Threat to expertise

G St Tirmee: 053 P, 16 Fdiiiamry 2IEET

Totnl Mo 1

Mr. Asad an assembly line worker, resists adopting latest
technology because of the uncertainty and ambiguity about
the technology, is an example of which source of resistance

v
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Mr. Asad an assembly line worker, resists adopting latest
technology because of the uncertainty and ambiguity about
the technology, is an example of which source of resistance
to change?

fatect e ot sl
Fear of unknown
O |

'Habit
() |

~ Security
o

'Threat to expertise

XX ’
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fiﬁange activities that are and goal oriented, are
ermed as planned change.

H:il:-n:rn:tq:ﬂ:h'l-

Intentional
“ \/

'Discretiunary'

Random

Reflexive
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The process through which we attempt to determine the
causes of others’ behavior is referred as:

Eetmpt tha correet eption

| Attribution
o

| Perception
o]

Attitude
0

Affect
(o)

O O d
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The change which is unforeseen and a result of an
unanticipated event or a response to some outside
influence, refers to:

Select the comect apbon
Planned change
O

Evolutionary change
0

étrategic change
0

Unplanned change
o

’CI‘ 3
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The organizational design of Aleem enterprise is
characterized by a low degree of departmentalization,
centralized authority, and limited formalization. Identify the
organizational design of Aleem enterprise:

St fhe corvect opion

Bureaucratic structure
o \/

Matrix structure

O

élmple structure
o)

Organic structure
o

(i 3
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Quamtdion # 3 of 10 Ttart ive 122008 P, 16 Febinary 3031 ) Tots] Maskz: |
The organizational design of Aleem enterprise is
characterized by a low degree of departmentalization,
centralized authority, and limited formalization. Identify the
organizational design of Aleem enterprise:

S fhe corvect opiaon

Bureaucratic structure
0 XX

Matrix structure
o

Slmple structure
o)

Organic structure
o

(= 3
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All of the following are benefits of internal change agent
EXCEPT:

ey P T B
Lower out-of-pocket costs y
(o] =

More diverse experience
o]

More control and authority
o

Available more quickly
0

(= =

Il
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All of the following are benefits of internal change agent
EXCEPT:

Suincy B carmct opiion )
Lower out-of-pocket costs
S XXX

More diverse experience
o]

More control and authority
o

Available more quickly
0
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In Ravi trading company, there is low formalization, a

comprehensive information network, and high participation
in decision making. What is its organizational structure?

Tl Marks: 1

el S ot i
Simple
(8]

Mechanistic

Organic 3 1
° \/

Bureaucratic

I
C

(o 3
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Which of the following statement is true in case of high

centralization? ) )
Download More Quizzes Files From
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Smrd 0 ceRreCt BRI

The corporate headquarter is located centrally to branch
O offices

Action can be taken more quickly to solve problems
0

New employees have a grea{ deal of legitimate authority
(o)

Lower level managers merely carry out directions
= J

(= =
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Mr. Asad an assembly line worker, resists adopting latest

technology because of the uncertainty and ambiguity about
the technology, is an example of which source of resistance

to change?

sl the comert agiion

‘Fear of unknown
(8]
| .
Habit
(o}

T=Ii:8ecurlty
o

 Threatto expertise ,
o |

(i 3

I
C
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Which of the following statement is true in case of high
centralization?

Download More Quizzes Files From

VUANnswer.com

Smrd 0 CevRCt BRI

The corporate headquarter is located centrally to branch
O offices

Action can be taken more qulckly to solve problems
0

New employees have a greai deal of I'egi'firﬁ-ate aﬁihority
o

Lower level managers merely carry out directions
O

(= =

Scanned with CamScanner



] ] ¥ .
& I
J JI M r l,'}‘lllfliffij

J'j

am Tor
H1OF all of the Fu!!uwmq EXCEPY

e ,
Delect the correct Dphion

| !l elining Job spetifications J

| || --|,III[..'1-'-I|':'_-"'_I|'[|-';I empl Y e _'T"-';'-J"“jﬂ":":'

e it ey e "‘lE"':"jE

Scanned with CamScanner



NSNS

(Juu*'.lmn 2

ol H]( '
HHM ||-[1|1'*

O s

. )99 oo I
1O whi Ili;TIFis-ff

" 15 (s
.thJuvH41;;;;;ru;hrﬂ,u

L d
Sect the correct AT TH
| : |

| ':JHI|‘I||II|~|J'| 1|."|'||||,.-‘ I

el

" PR RN G R TN T

L |”i||| LA ||H..' Ir.'..,...l

Scanned with CamScanner



et
H|,|| |I1 |I'|1II||I|_||1I_II|-II. 1|| i |||||. I'|1'.1|.r1.|,"1" A | || h
l'll l'll | l'l II' ll' l'll | II I Illl In"l.'ll.]ll.l"'u""wn W ".Il".n. Wy

|I \1 |II ||I' | ||II|I'II||'| '|]||"|I'| | ,|1'.I|1l. l.,|||||,|'l 'II"4"|||II \y "h"'i.
I ll 1 LIllu"|.|.|| "."lh"h" "v'l'n
I'I'|1'| |ll'||"l"1n"'lm'” H Wi 0
|| |-|'|'|'|i||, |'||||||I||| L”"l.'l
] || | 1A AR
II||||I"I||I II“'"'"I.v.ql..,l
|| |I||I| I 1|ill IIHII.L‘||1|I:I1L‘|'I'|h'|||"lll1"ili|I,|I I|1.1
1
ll I|1 l'I|I |||I I||I ! 1 1II|.IIII MY I.II ||'II|1|I'|'|I'|1 iy 'Iﬂl'.' i\ 1" Y
) ll l l “ 1 III"1 1lll'l 1'l||."l|'lll|.. 1"-1 :lllll'l':.:' l'
A li'u
W WITROI Y
|I| ll I‘IﬂH Hll I‘l .| |r'.‘|f|l‘lll-ll"l (T

'|'| u'-' | l.‘n 1 Ll
{r IIII"IH .III.!" l‘ .I-l *H.'.'* M q'

LR L |.1 '1.‘ \ l"l]‘"'l, ._. 1."1'1'” }

‘|HHH ¥
1-!-1“{'.1‘-!“ L....|itl{ Illltl‘.

‘11,}',.\ t"'.‘\'.. l'k# fuehi

w\ i

Scanne d with CamScanner



Select the comectoption  VUANswer.com
;:Cusmmer

Scanned with CamScanner




I _I'-I (Al |
AT i
il ||I_ il e ||||I |III| |I|| [ | I'II|'I|I -II'.u
O ' | | | I | |I-I|II |I'I' 'I|II'II|II
e eat el |I| {14 I l.|I
| | | I|, || | | | I|II
(i ||I|I || (LI T | .|.||I| o\
e il ok i I l li |||| |||||| | iU ||I -||' ||||.',|-' fil | I|L |.l'|,|'ll;'-|' | ". \
il - il IR LI
'|| (TSt .|.,| AR L |||| il 141 Ii! 1T \ .Iﬂ:"ll,l'h" ,.'1 \'L" u

l}"ll A ]{‘:‘*:‘}E
1|. : “ _Eﬁ

". | mssrmmﬁ | "ﬁ

H’f"a'““f fhiui
'Y i i ||||{|I||'||”|M' il

”# | ] ||f|u||||||”| '|||"I| il

W%Wh__ i b

| |.|' m""""'_."

e |..
| uq ”TIWW T ["1: i ﬁﬂ ut

L f"'mf”l' i \‘M i

Scanned with CamScanner



LT B0 2R Y WMT'“WJ’JW.'IIHFEHUME'

Chirnticrii 8 § o 10 { Stor? tieee: 08 3530 P, 1% Februagry 2131 | Tiotnl Blaren- 1

A reduction in the rank, status, or position of an employee is
known as:

fasiert me corrext ogtion
Layoff
O

Attrition
&

'Demotion
0

PN ng
o
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